
 

SET – A 

B.A. Eaxamination 

Quantitative Methods 

PAPER EC-05 

Time:– Three Hours                   Max. Marks- 70 

Note:- The Question paper is divided into three Sections A,B and C. Write 

answers As per the given Instructions. 

uksV%& ;g izशu् i= v] c rFkk l rhu [k.Mks es foHkkftr gS izR;sd [k.M ds funZs’kkuqlkj izशu्ks ds mrj 

nhft,A 

  Section A 

(Very short answer questions) 

Note:- Answer all questions. Answer of each question should be given in 30 

words. Each questions carries 2 marks.      7x2=14 

        [k.M&v 

¼vfr y?kq mrjh; iz’ku½ 

uksV% lHkh iz’kuksa ds mrj nhft,A izR;sd iz’u dk mrj 30 'kCnksa esa nhft,A izR;sd iz’u 2 vad dk gSaA 

Explain the following:- 

Q.1 Find 
𝑑𝑥

𝑑𝑦
 if y =  

𝑒𝑥

𝑥
 

𝑑𝑦

𝑑𝑥
 Kkr dhft, ;fn y =  

𝑒𝑥

𝑥
 

Q.2 Find the maxima and minima 

vf/kdre vkSj U;wure Kkr dhft,A 

y=x4-8x3+22x2-24x 

Q.3 Integrate the following 

fuEu dk lekdyu dhft,    𝑥 −
1

𝑥
 

2

𝑑𝑥 

Q.4 What is meant by primary data? 

  izkFkfed laedks ls vkidk D;k vfHkizk; gS\ 



Q.5 If relationship of two variables X and Y is 2X+3Y=70 and if   X is 18 what is the mean of Y series? 

  ;fn x vkSj y nks pjks ds e/; lEcU/k gS 2x+3y=70 vkSj ;fn x Js.kh dk lekUrj ek/; 18 gS rks y Js.kh dk lekUrj ek/; D;k 

gksxkA 

Q.6 What is standard deviation 

  izeki foPkyu ls D;k vfHkizk; gS\ 

Q.7 Write down the formula for paasche’s index number. 

  ik’ps; dk baMsDl uacj dk lw= crkb,A 

Section B 

(Short Answer Questions) 

Note:- Answer any four questions. Each answer should be given in 200 

words. Each questions carries 7 marks.      4x7=28 

[k.M&v 

¼y?kq mrjh; iz’ku½ 

uksV% fdUgh pkj iz’uks ds mrj nhft,A izR;sd iz’u dk mrj 200 'kCnksa esa nhft,A izR;sd iz’u 7 vad dk 

gSaA 

1. If A =  
1   2   3 
2   3   5 
3   5   12

  then find A-1 

;fn A =  
1   2   3 
2   3   5 
3   5   12

  gks rks Kkr dhft, A-1 

2. Calculate karl pearson’s coficient of correlation from the following. 

fuEu vkadMks ls dkyZ fi;jlZu dk lglEcU/k xq.kkad Kkr dhft,A 

mez o"kksZ es 

Age in years 13 14 15 16 17 18 19 20 21 

vlQy dk izfr’kr 

Precentage of failore 

39 40 43 34 36 39 48 47 54 

 

3 Two random variables X and Y have following regression equation 

nks ;kgfPNd pj ewY; vkSj ls lEcfU/kr izfrixeu lehdju fuEu izdkj gS& 

  2x+3y-26=0 

    x+6y-31=0  

         σx2=9   

find out σy/ σx of both the variables and value of correlation 

Kkr dhft, σy/ σx nksuks pjks dk vkSj buds e/; lglEcU/k HkhA 



4. Define an index number ? why is fisher’s ideal formula called “ideal”. What are it’s demerits. 

lqpadkd uacj dks ifjHkkf"kr dhft,A Qh’kj vkn’kZ QkewZyk dk “vkn’kZ” D;ks dgk tkrk gSA vkSj blds D;k nks"k gSA 

5. Find the value of ∫ x sin3 x2 cos x2 dx. 

Kkr dhft, ∫ x sin3 x2 cos x2 dx. 

6. Calculate mean, median and mode from the following data. 

Wages in Rs. No of Person 

Below – 13 3 

13 – 15 5 

15 – 17 6 

Below – 19 21 

Below – 21 26 

21 – 23 4 

Below – 25 33 

 

Åij nh xbZ la[;k ls lekUrj ek/;] ekf/;dk vkSj cgqyd Kkr dhft,A 

7. From the following data fit a straight line trend by least square method. 

fuEu laedks ls U;qure oxZ fof/k }kjk ljy js[kk miufr Kkr djsaA 

Year¼o"kZ½ 2004 2005 2006 2007 2008 2009 2012 

Production¼mRiknu½ 77 88 94 85 91 98 90 

 

Section C 

(Long Answer Questions) 

Note:- Answer any two questions. Each answer should be given in 500 

words. Each questions carries 14 marks.      2x7=28 

 

 

 

 



[k.M&l 

¼nh?kZ mrjh; iz’ku½ 

uksV% fdUgh nks iz’uks ds mrj nhft,A izR;sd iz’u dk उत्तर 500 'kCnksa esa nhft,A izR;sd iz’u 14 vad dk 

gSaA 

 

1. What is a questionnare? How it is different from schedule? What are the chief requirements of a 

good questionnaire? 

iz’ukoyh ls D;k vfHkizk; gSA fdl izdkj ls ;g vuqlwph ls fHkUUk gSA iz’ukoyh dks cukus ds fy, eq[; D;k&D;k t:jrs gSA 

 

 

2. Calculate the arithmetic mean and mode from following table 

fuEu lkj.kh }kjk ek/; rFkk Hkwf;"Bd Kkr dhft,A 

 

Marks(izkIrkad) Frequency(fo|kfFkZ;ks dh l[a;k) 

0 – 10 
10 

10 – 20 
15 

20 – 30 
25 

30 – 40 
30 

40 – 50 
10 

50 – 60 
10 

3. Calculate combined mean and standard deviation from the following data. 

fuEu laedks ls lewfgd ek/; vkSj izeki fopyu Kkr dhft,A 

 A B C 

No. of item(enksa dh l[a;k) 100 60 80 

Mean x  (ek/;) 30 18 12 

Standard deviotion(izeki fopyu) 4 6 5 

4. From the following data calculate the coefficient of correatation between age and blinders. 

fuEu laedks ls mez vkSj vU/kkiu ds chp lglEcU/k xq.kkad Kkr dhft,A 

Age(mez) 0-10 10-20 20-30 30-40 40-50 50-60 60-70 

No. of person(O;fDr;ks dh la[;k) 100 60 40 36 24 11 6 

No of blind(vU/kks dh l[a;k) 55 40 40 40 36 22 18 
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Note:- The Question paper is divided into three Sections A,B and C. 

Write answers As per the given Instructions. 

uksV%& ;g iz’u i= v] c rFkk l rhu [k.Mks es foHkkftr gS izR;sd [k.M ds funZs’kkuqlkj iz’uks ds 

mrj nhft,A 

   Section A 

(Very short answer questions) 

Note:- Answer all questions. Answer of each question should be given 

in 30 words. Each questions carries 2 marks.     

 7x2=14  

[k.M&v 

¼vfr y?kq mrjh; iz’ku½ 

uksV% lHkh iz’kuksa ds mrj nhft,A izR;sd iz’u dk mrj 30 'kCnksa esa nhft,A izR;sd iz’u 2 vad dk gSaA 

Q.1 What is co efficient of range. 

foLrkj xq.kkad D;k gS\ 

Q.2 Find correlation coefficient with karl pearson’s method of following data. 

fUkEu iznr eqY;ksa }kjk dyZ fi;lZu lg lEcU/k xq.kkad Kkr dhft,A 

 dx=( x-x ),  dy=( y-y ) 

∑dxdy=150, n=9, σx=5-8, σy=3-2 

Q.3 What is index number? 

lwpdkad D;k gS\ 



Q.4 vodyu dhft,A Differentiate 

4x4+3x3+2x2+4 

Q.5 lekdyu dhft,A 

      Integrate.   ∫   
   𝑡𝑎𝑛+𝑥

     1+𝑥
2  dx 

Q.6 Write the difference between correlation and regression. 

lg lEcU/k rFkk izrhixeu ds chp vUrj fyf[k,A 

Q.7 Find out median of following data. 

fuEu vkadMksa ls ekf/;dk Kkr djks 

 120, 150, 170, 180, 181, 187, 190, 192, 200, 222, 224, 300, 242, 230, 190, 202 

Section B 

(Short Answer Questions) 

Note:- Answer any four questions. Each answer should be given in 200 

words.    Each questions carries 7 marks.       4x7=28 

[k.M&v 

¼y?kq mrjh; iz’ku½ 

uksV% fdUgh pkj iz’uks ds mrj nhft,A izR;sd iz’u dk mrj 200 'kCnksa esa nhft,A izR;sd iz’u 7 vad dk 

gSaA 

Q.1 Define statistical data explain their characteristics. 

laedks dh ifjHkk"kk nhft, rFkk mudh fo’ks"krk, crkb,A 

Q.2 what is meant by dispersion? What are the methods of computing dispersion? 

vifdj.k dk D;k rkRi;Z gSA vifdj.k dk eki djus dh dkSu dkSulh fof/k;ka gSA 

Q.3 Find the quartile deviation & coefficient of following data. 

fuEu laedks dk prqFkZd fopyu vkSj mldk xqa.kkd Kkr dhft,A 

Month 1 2 3 4 5 6 7 8 9 10 11 12 

Income 139 140 140 141 141 142 142 143 143 144 144 145 

 

Q.4 Find coefficient of correlation.  

fuEu laedks ls lg lEcU/k xq.kkad fudkfy,A 

∑x=120, ∑y=432, ∑xy=4992, ∑x
2
=1392, ∑y

2
=18252, n=12 



Q.5 From the following data find chain base index numbers with 1977 as base year. 

1977 dks vk/kkj o"kZ ekudj J`[kayk vk/kkj jhfr ls fuEu vkadMksa dk lwpdkad Kkr dhft, 

oLrq Commodities ewY; Price 

Year 1977 1978 1979 1980 

A 5 8 12 21 

B 12 15 21 21 

C 20 26 26 39 
 

Q.6 ∫ eax sin bx dx 

Q.7 Find secular trend by least square method of the following data. 

fuEu laedks ls U;qUkre oxZ jhfr }kjk miufr dk vkadyu dhft,A 

Year 1966-67 1967-68 1968-69 1969-70 1970-71 

Crores of 
pounds 

83 92 71 90 95 

 

       

Section C 

(Long Answer Questions) 

Note:- Answer any two questions. Each answer should be given in 500 

words. Each questions carries 14 marks.    

 2x7=28 

[k.M&l 

¼nh?kZ mrjh; iz’ku½ 

uksV% fdUgh nks iz’uks ds mrj nhft,A izR;sd iz’u dk mrj 500 'kCnksa esa nhft,A izR;sd iz’u 14 

vad dk gSaA 

Q.1 find out the coefficient of correlation between age and playing habit from the following 

data. 

fuEu vkadMks ls lg lEcU/k xq.kakd Kkr djksA 

 

Age Group No. of students No. of regular player 

15-16 200 150 

16-17 270 162 

17-18 340 170 

18-19 360 180 

19-20 400 180 



20-21 300 120 

 

Q.2 Calculate consumer price index no for 1976 by 

 (1)Laspeyer’s method 

 (2)Paasche’s method 

 (3)Bowley’s Method 

 (4)Marshall – Edgewarth method 

 (5)Fisher’s method 

 from the following data. 

Commodity Price Quantity 

Year 1965 1965 

A 4 50 

B 3 10 

C 2 5 

 

Year 1976 1976 

A 10 40 

B 9 2 

C 4 2 

 

Q.3 Calculate the arithmetic mean and mode from following table. 

      fuEu lkj.kh }kjk ek/; rFkk Hkwf;"Bd Kkr dhft,A 

Marks(izkIrkad) Frequency(fo|kfFkZ;ks dh l[a;k) 

0 – 10 10 

10 – 20 15 

20 – 30 25 

30 – 40 30 

40 – 50 10 

50 – 60 10 

 

Q.4 Describe the scope of statistics? 

lkaf[;dh ds {ks= dh foospuk dhft,A 

 

 

SET – C 

BAEC-05 



B.A. Eaxamination 

Quantitative Methods 

PAPER BAEC-05 

Time:– Three Hours                   Max. 

Marks- 70 
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uksV%& ;g iz’u i= v] c rFkk l rhu [k.Mks es foHkkftr gS izR;sd [k.M ds funZs’kkuqlkj iz’uks ds 

mrj nhft,A 

   Section A 

(Very short answer questions) 

Note:- Answer all questions. Answer of each question should be given 

in 30 words. Each questions carries 2 marks.     

 7x2=14  

[k.M&v 

¼vfr y?kq mrjh; iz’ku½ 

uksV% lHkh iz’kuksa ds mrj nhft,A izR;sd iz’u dk mrj 30 'kCnksa esa nhft,A izR;sd iz’u 2 vad dk 

gSaA 

Q.1 Find the maxima and minima? 

vf/kdRke vkSj U;qurd Kkr dhft,\ 

y=x4-8x3+22x2-24x 

Q.2 What is meant by primary data? 

izkFkfed laedks ls vkidk D;k vfHkizk; gS\ 

Q.3 vodyu dhft,A Differentiate 

4x4+3x3+2x2+4 

Q.4 Write the difference between correlation and regression. 

 lg lEcU/k rFkk izrhixeu ds chp vUrj fyf[k,A 

Q.5 Write down the formula of fisher index number 

Qh’j dk baMsDl uacj dk lw= crkb,A 



Q.6 Find 
𝑑𝑥

𝑑𝑦
 if y =  

𝑒𝑥

𝑥
 

𝑑𝑦

𝑑𝑥
 Kkr dhft, ;fn y =  

𝑒𝑥

𝑥
 

Q.7 What is co-efficient of range? 

foLrkj xq.kkad D;k gSA 

Section B 

(Short Answer Questions) 

Note:- Answer any four questions. Each answer should be given in 200 

words. Each questions carries 7 marks.     

 4x7=28 

[k.M&v 

¼y?kq mrjh; iz’ku½ 

uksV% fdUgh pkj iz’uks ds mrj nhft,A izR;sd iz’u dk mrj 200 'kCnksa esa nhft,A izR;sd iz’u 7 

vad dk gSaA 

Q.1 Find coefficient of correlation.  

fuEu laedks ls lg lEcU/k xq.kkad fudkfy,A 

∑x=120, ∑y=432, ∑xy=4992, ∑x
2
=1392, ∑y

2
=18252, n=12 

Q.2 Two random variables X and Y have following regression equation 

nks ;kêfPNd pj ewY; vkSj ls lEcfU/kr izfrixeu lehdju fuEu izdkj gS& 

  2x+3y-26=0 

    x+6y-31=0  

         σx2=9   

Find out σy/ σx of both the variables and value of correlation 

Kkr dhft, σy/ σx nksuks pjks dk vkSj buds e/; lglEcU/k HkhA 

Q.3 Define statistical data explain their characteristics. 

laedks dh ifjHkk"kk nhft, rFkk mudh fo’ks"krk, crkb,A 

 

Q.4 Find the quartile deviation coefficient of following data. 

fuEu laedks dk prqFkZd fopyu vkSj mldk xqa.kkd Kkr dhft,A 

Month 1 2 3 4 5 6 7 8 9 10 11 12 



Income 139 140 140 141 141 142 142 143 143 144 144 145 

 

Q.5 ∫ eax sin bx dx 

Q.6 Calculate mean, median and mode from the following data wages in rs no. person 

Wages in Rs. No of Person 

Below – 13 3 

13 – 15 5 

15 – 17 6 

Below – 19 21 

Below – 21 26 

21 – 23 4 

Below – 25 33 

 

   Åij nh xbZ la[;k ls lekUrj ek/;] ekf/;dk vkSj cgqyd Kkr dhft,A 

Q.7. From the following data fit a straight line trend by least square method.. 

fuEu laedks ls U;qure oxZ fof/k }kjk ljy js[kk miufr Kkr djsaA 

Year¼o"kZ½ 2004 2005 2006 2007 2008 2009 2012 

Production¼mRiknu½ 77 88 94 85 91 98 90 

Section C 

(Long Answer Questions) 

Note:- Answer any two questions. Each answer should be given in 500 

words. Each questions carries 14 marks.    

 2x7=28 

[k.M&l 

¼nh?kZ mrjh; iz’ku½ 

uksV% fdUgh nks iz’uks ds mrj nhft,A izR;sd iz’u dk mrj 500 'kCnksa esa nhft,A izR;sd iz’u 14 

vad dk gSaA 

Q.1.Discuss the various methods of data collection used in statistics. Which method is more realiable ? 

laf[;dh es laed ladyu dh fofHkUUk fof/k;ks dh O;k[;k dhft, dkSulh fof/k loZf/kd fo’oluh; gS\ 

 

Q.2 Calculate consumer price index no for 1976 by 

 (1)Laspeyer’s method 

 (2)Paasche’s method 



 (3)Bowley’s Method 

 (4)Marshall – Edgewarth method 

 (5)Fisher’s method 

 from the following data. 

                     
                 Year 

Price Quantity Price Quantity 

1965 1965 1976 1976 

A 4 50 10 40 

B 3 10 9 2 

C 2 5 4 2 

 

Q.3 Describe the scope of statistics? 

lkaf[;dh ds {ks= dh foospuk dhft,A 

Q.4 Calculate the arithmetic mean and mode from following table. 

fuEu lkj.kh }kjk ek/; rFkk Hkwf;"Bd Kkr dhft,A 

Marks(izkIrkad) Frequency(fo|kfFkZ;ks dh l[a;k) 

0 – 10 10 

10 – 20 15 

20 – 30 25 

30 – 40 30 

40 – 50 10 

50 – 60 10 

 

 

Commodity 

 


